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1. (a)

(b)

(©)
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(2) Figures to the right side indicate marks of that question.

Give the definitions :

(1) Domain of function and Range of function.

(2) One to one function
(3) Equal functions

(1) Use of simple calculators is allowed.

OR

[Max. Marks : 70

What is the limit of function ? Explain the meaning of x — 0, x — a and x — oo.

Give the answer as per demand.
(1) If f(x) = 3x3 — 2x2 + 7 then prove that

35f(~1) - f(0) = 7f(3)

(2) Find the value of : /IM x+2-43

X—>1

OR

x—1

Give the answer as per demand.

X

1) Iff(x) = X=3 then prove that f(x) — f(x — 1) =

lim X+5) (2x+3)
x> 13+ 7x2 - 2X

X 1

(2) Find the value of :

X2
Iff(x):?_z . x<?2
=0 , x=2
3
= —XZ , X>2
Discuss the continuity of f(x) at x = 2.
OR
: e
Find the value of : X“m x+7-3
»2-[x+2-2

2x—1
X(x —1)
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2. (3
(b)
(©
3. ()
(b)

Give the definition of derivative and write the rules of derivatives.
OR
By using definition, find the derivative of y = \/}
Find %})f X
(1) (2x-5)(y+3)=10
(2) y=¢€X-3*-logx
OR

- dy
Find dx -

(1) y=log(5x +2)-e*+3
(2) y=log(x®-e™)

Find %))f (any one) :

(1) y=log(e*-x°)
(2) y=log(5x2-3x+7)

Give the definitions with illustration :
(1) Random Experiment
(2) Events
OR
Write the Baye’s theorem for inverse probability.

Find the answer as per demand.

(1) If A, B and C are mutually exclusive and exhaustive events and
2P(A) = 3P(B) = 4P(C) then find the value of (i) P(A L B) (ii) P(B u C)

10

(2) A number is selected at random from 1 to 100. Find the probabilities that

number is (i) multiple of 3 (ii) multiple of 7 (iii) do not multiple of 7.

OR

Find the answer as per demand
(1) Two dice are thrown simultaneously, then find the probabilities that (i) sum of

@)
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numbers on the two dice is atleast “9” (ii) sum of numbers on the two dice is at the

most “6”.

There are three machines A, B and C in a factory producing screw respectively
25%, 35% and 40% of the production, of which 5%, 4% and 2% of production of

screw are defective. A screw is drawn at random from the production and found to

be defective. Find the probability that it is produced by machine A.
6



(b)

(©

Give the definition of mathematical expectation of a discrete random variable and
write its properties. 3

OR
Write the definitions of row moments and central moments.

Probability distribution of a variable is as follows : 5

XX ¢ 0 1 2 3 4
Px): 01 P 02 P 01

Then (i)  Find the value of P.
(i)  Find the value of E(x + 2)
OR

In a box, there are 4 red and 3 white balls. If 3 balls are selected at random from
box, find the expected value of white balls.

Find the first four central moments for the observations 10, 12, 18 and 20. Also
find the values of v, and y,. 6
OR

In a frequency distribution, first four raw moments about “7” are 2, 15, 40 and 60
respectively. Find the values of y; and v,.

5. Fill up the blanks by proper answer : 14

(1)

@)

3)
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For f: A — B, f(x) = 5x + 1, the range R is {6, 16, 26, 36} then Dy is

(@ {57911} (b) {1,3,5, 7}
(C) {1’ 5,7, 9} (d) Other

lim X+1_
x—>-1 x2—-1"

—~
QD
=
N|w
wINo

(b)
© -3 (d) Other

If f(x) = €5 then £'(0) - f(0) =

(@ 10 (b) -5
() 5 (d) Other
7 P.T.O.
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If P(A) =0.4,P(B)=0.6 and P(A U B) =

(@ 0.03 (b)
(c) 0.003 (d)

0.8 then P(A/B) =
0.33

other

Variance of x = 1.25, E(x?) = 58.25 then E(x) =

(@ 125 (b) 0.125
(c) 125 (d) other
Ify, =0.1288 and y, = -1.56, then B, = and B, =
(@) 0.0166, 1.44 (b) 0.1066, 14.4
(c) 1.66,0.144 (d) other
If f(x) = x3 - 3¥ then f'(0) = .
@ -1 (b) 1
¢ O (d) other
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